PHILIPS

USB 2 £ HiE ]

DLP8720N

A =K ’ P L =
i~ =0
pD ]— — S |_—|O J =) |_|_
S = BiE2| BHd X
AR OlCI ML} LS 1 ZXSIAL. 0 BIE2| TS X/0f 191 2HF EXTH 22 0|ALQ
M2 27K MAIZ EA|0| EHE 4 2,204 20000mAhS| 2 82f0 2 SCHE0|L} Ef
=3

70| 45

e 2049 71§ X

[=13
=

=270l usB £ E

A
o

FHENMH
« MES 0|3
« USB 7|8+ ZHx| 9 RH=

o YOI US W ACMLLEHS 7

e S3AEHIUAUHE2E L

SOz o2l ¥ ™ Jts

7ts
% 5
FUE Tk S

. 7|2 2= 00|32 USB A 0|2 ¢

(e} K=}
HEs

E=R=N
= AT

HSELCh USB £ E
12| 0| &HO0| 7tsef

2
L




USB = 7 HiE{ 2|
O
N

2|5 AKX}

Z0[:36.5cm
AH|XFIHZ| K] 418
210]:14.4 QI %]
#:18.5cm

5 53:914keg
=0[:24.6 cm

GTIN: 148 95229 11249 7

=32 72kg

5 53:20150 b

&= 252115873 1b

27| =25 194 kg

87| 54277 b

LY & AFX}
Z0[:16.6 cm
AH|XHIHFR] 2= 6
210]: 6.5 QI
11.5cm
0]: 22.6 cm
4.5 Q1%
0]: 8.9 2I%|
2 24kg
=2 2.88kg
2 52911lb
52:6.349 b
27| £&:0.48kg
27| £%:1.058 b
GTIN: 2 48 95229 11249 4

OH' > Obh M HEE B I

© 2024 Koninklijke Philips N.V.
All rights reserved.

A2 o 2 glo] HEE 4 AFUCH

4 E & Koninklijke Philips NV. &
L[ FO XpakLICH

ENTEE
HIE{2| 2 20000mAh
el 2=l CE 5V, 2A
Z2:5V,21A,1A

MEFH X 9. %=
=:10.5cm
Z0[:3cm
=0|:77 Qx|

EZEEMHE 1

£2:0.948 b

£2r08821b
27| £2 0.03 kg
27| 2k 0.066 Ib

0

0

HE 4
=0[:23cm
:8cm
210[:15.6 cm
=:3191X]
=0[: 0.9 Q1%
Z10]: 61 Q1R
=2 0.4 kg
=2 0.8821b

JI-I:I t

MM A2
70| =: 00|22 USB

} 2024-03-28

PHILIPS

EAN: 48 95229 11249 O

www.philips.com

DLP8720N/00

T2 M=

OlC|MLE &F Ths
H0[E E= AFE ST I7F 2A0| 0o T b
Bi2| 2 & ALt FXIQ HHE|2| & HE|SHH &

T+ AGHCL XSS HEE B2 2UH2=2
HEE SE5I0 AL T HE MAHE + A2H,
IXQ HiE{ 2|7t 2H 5| SHE JEE RAE &
AL = BiLCh

ojo|=2 2 usB #Hl0| = =&t

7|2 XM 3= 0ro|3 2 USB-USB 2.0 A0l £2 o}
0|32 USBZ HZst= FUE, CXE 72t Y
J|Et HUE ZR0 AFSELICH FOHSHALE B4

Ol =22 AFESHALE Jo{HEl 70| =5 t A5t
ER5IH AN E R E AESL UL = Us

Lo

oz H S Jts
Ol & HAUS AISSIH 0|8 Soll F ' ol
2AME| EME 4 QSL|CH o A| Zogm

°
[l
140
mo of
>
ol
gk
4> 32
o I
il
T -
_("l_

Hatotoln R D YA EER P
USB A 0122 S5 USB 7|8t Fx
S8 4 /e USBAZO| ZHEH UGLICH

=
=

2EH°| 71718 ™E + A= 2719 USB £ E

LED M BEAS

wotLED EAS
_%OI S0 AS
==y

I:

-

=22 2 Wol Xl
a =0l 2O

k=3
(=
(=1
= =

o
+
pas)
[T
J
%


http://www.philips.com/

